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Section

Directions

Read each question and choose the best answer.

4
1 Which expression is equivalent to (%) [

>
B
oo‘m

Vv17x - 20/68X%

What is the simplified form of this expression?

F —39J17x

G —21.85x
H —20.85x
J 19V17x

GO ON p>
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x5—2x4+3x+7

x2+1

What are the quotient and remainder when this division is performed?

A Quotient: x3-3x2+6
Remainder: 1

B Quotient: x3 - 3x2
Remainder: 7

C Quotient: 4x +5
Remainder: X° —2x% — x + 2

D Quotient: x% —2x% — x +2
Remainder: 4x +5

GO ON p>
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(x - %(x +2)

1
x =3 +3)(x - 2)

5 What is the product of (3 - 5i) and (2 + 4i)?

A

B
C
D

14 - 2j

14 + 2i

26 — 2i

26 + 2i

GO ON p>
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f(x) = x% - 49
g(x) = x? +3x - 18

What is the value of (éj(—@?

—13
F 36

85
H 72

J undefined

GO ON p>
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Use the information below to answer Number 7 on the next page.

The graph shows y = f(%).
y
A
5
4
3 >
2 - all
_—
= 54-32°11 12345 =X
-2
-3
-4
-5
\

GO ON p>
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7 Which graphshows y = f *(x)?
A y B y
A A
5 f 5
4 4
3 / 3
2 2
-/ 1
< 54321 Y2345 > X “T543%1]|12345] X
_—
-2 -2
T—
-3 -3 s
-4 -4
-5 -5
Y \
C y D y
A A
5 5
4 4
3 3
~—_ X >
~
1 1
< — 5 = > X < 5 ——7_ > X
5-4-3-2-1,/ 12345 5432/111234'5
-2 -2
-3 -3
_4 l -4
-5 J -5
Y \/
GO ON )
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8 Which graph represents the solution set to the system of
inequalities below?
2
<<x+
y < 3X 2
2
< = -
y <3X 1
F y < y
A A
v v
3.~ 3.~
2 2
’1, 1 ’¢F ", 1 ’¢F
321 | x 23| X #3211 23| X
g v
72 2
A’ -3 )' -3
\ Y
H y J y
A A
A4 A4
3.~ 3.~
2 2
I,, 1 l’% /', 1 I’F
#3211 23| X “#32-1 | x 23| X
o g
72 72
A’ -3 A’ -3
\ Y

GO ON p>
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Ox?2 +6Xx+1 =0

What is the solution set of this equation?

A {3}

. (1)

c {0,3}

> {73}

10 The height of a projectile, h(t), is modeled as a function of time, t, in
seconds.

h(t)=-32t% + 128t

How long is the projectile in the air?

F 0 seconds
G 2 seconds
H 4 seconds
J 8 seconds

GO ON p>
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11

2
4\\,1
I ENE|
l//,l \\\
< /l, \\\ :X
—5—4—r2—_11 12 3 \¥
/e
2B
5 3

What is the equation of this graphed hyperbola?

x -D? (y-3°* _
A 2 — 2 =1

x -D? (y-3°* _
B > — > =1

v -3° (x-1% _
C 2 — 2 =1

b V-3° x-1?

2 2 =1

GO ON p>
10
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13 Karen hears a scream that has a relative intensity, R, of 90 decibels. The
relative intensity of a sound, R, in decibels is given by the formula
R = (10)log |I_o' where I is the intensity of a sound and | is the
threshold for hearing. How does the intensity of this scream, I, compare to
the intensity of the threshold for hearing, 1,?

A 3,486,784,401 times as loud
B 1,000,000,000 times as loud
C 900 times as loud

D 9 times as loud

14
2x3 +x2-5x+2=0

Given that (x + 2) and (x - 1) are factors of this polynomial equation,
what is the third factor?

F 2x -1
G 2x-5
H 2x +3

J 2x%2 +3x +12

GO ON p>
12
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15 Kylie is making a box with an open top from a square piece of cardboard
that measures 11 inches on each side.

X X
X T X
x DX
X X
Key
---- = fold

First, she cuts out squares of uniform side length, x, from each corner of the
cardboard. Then she folds the cardboard to form the lateral faces of the
box. Which function models the volume of the box?

V = Bh

V(X) = (11 - 2x)*?
V(X) = x(11 - 2x)?

V(X) = (11 - x)?

O 0 v >

V(X) = x(11 - x)?

GO ON p>
13
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16

What are the solutions of this equation?

F x=3
G x=3%
H x=32
3 x=%

and x = 2
and x =—2
and x =—2
and x = 2

14

GO ON p>
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17 Tanisha used this table to compare the number of school yearbooks
purchased (y) in Mr. Bach'’s class each year (x) that he was a teacher.
Teaching Year 1 2 3 4 5 6 7
Number of Yearbooks | 23 [ 22| 23|24 | 23| 22| 23
Which scatter plot represents the data in the table?
A Yearbooks Purchased in B Yearbooks Purchased in
Mr. Bach’s Class Mr. Bach’s Class
Yy y
A A
kY, 9
. o 24 .0 24
g 8 23 8 8 23
- 22 s 22
€ E
S o 21 S o 21
Z > 20 Z> 20
‘5 2 > X ‘5 2 > X
0O 12345678 0O 12345678
Teaching Year Teaching Year
C Yearbooks Purchased in D Yearbooks Purchased in
Mr. Bach’s Class Mr. Bach’s Class
Yy Yy
A A
Y 9
. 8 24 ¥ o 24
g823 g§g2
£ = 22 £ = 22
© ©
Jo 21 S o 21
Z > 20 Z> 20
5 > X R > X
0O 12345678 O 12345678
Teaching Year Teaching Year
GO ON )
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18

X y
-3 3
-2.5 2
-1 1.5
-0.5 1
1 -0.5
1.5 -1
2 -2.5
3 -3

Which type of function best models the data in this table?

F exponential
G logarithmic
H quadratic
J linear

GO ON p>
16
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19

4, 6, 9, 135, 20.25, ...

Which formula can be used to determine the 50th term of this sequence?

Arithmetic Sequences & Series

n" term: a,=a +(-1d

Sum:s_ = g(ajL +an)

Geometric Sequences & Series

n" term: g = alr(n_l)

a - r™

@a-r

Sum: S, =

A ag;y =4+(B0-1)A.5
B Sso = 32(4 +80.5)

C ag = 4(1L.5)%

D s = 45242

17
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